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(A) ¥pfiEEE Bill of Material
(B) Ux#Ri#TgE POS: Point of Sales
(C) E:t4EME General Ledger
(D) AJIEEEIE Human Resources
(E} 7715 Inventory Management

3. DUTF—IEA EeEEAERE T LRER
A
(A) B2Bi
(B) CPFR
(Cy 020 eCommerce
(D} e-Design Collaboration
(E) e-Procurement

4. BUTEEARZE SDLC e SRl E 7
(A) Systems planning
(B) Rapid prototyping
{C) Systems analysis
(D) Systems design
(E) Systems implementation 9
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(A) Cloud service

(B) Insourcing

(C) Web hosting

(D) Co-location

(E) Facility management

6. DATH—IREEIMERET » 11 ERE

10.

+by #2137

*BRALER (B RHE

R

(A) E5mEEHmE
(B) FEWEENCE
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EH : Google #Y DeepMind
7, . Oracle DBMS #Y Query
_ optimization
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T : LBS: Location Based Service
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(A) In apps purchase

(B) Location-based service

(C) tHErdERITF

(D) UX/UI

(E) QR-code Z{JJ57

THIEEA REF RS RAHEERE?
(A) BHItReEtEE

(B) BFHE

C) E=A=T

(D) BIMEIE (revoke)

(E) FinTech

TE—RE A EERIE w0 ML
(internalization) ¥5HYE

(A) Tacit knowledge to explicit knowledge.
(B) Explicit knowledge to explicit knowledge.
(C) Explicit knowledge to tacit knowledge.
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(D) Tacit knowledge to tacit knowledge. .
(E) None of the above. : ”
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(A) Transport layer service

(B) VPN

(C) PKI/CA

(D) DNS

(E) IP address mapping
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(A) DSS
(B) Transaction processing
(C) OA
(D) OLAP
E LIEEE
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(A) TR
(B) Bl FEH
{C) BS 7799 /IS0 27001
(D) @21 PKI #VERA
(B) BLEEIE

16. LATH—E A REEN ARG LAY
(A) PhP
(B) O0OA
(C) IDEF
(D) ERSER{AHEZ! (B-R modeling)
(B) &fE{LoM7HY Bubble chart
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(A) EafEsk

(B EEHREEANME
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(A) B EBEENFERE T
(B) EREEENRAE
CO) BRZENERSE
(D) BEHFEEER BEIFE DS
(B) BEEBENEZESFE
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19. BUFgHE CMMI RYBREL » BR—TH A A IERE 7
(A) HAVfEE—ERBMEZESEER D
Bt & EE i mE '
(B) CMMI IR A TIE RERE 12
FEE A
(C) TE{E{oIZRKE T HYAHE - CMMI BEE{R#E
HRENE
(D) CMMI e+ ERAs 4 & I B2 i
(B) BRIE—4k CMMI fRBVE » BUFREELE:
SRAZRE IRV i
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(A) QR-code
(B) RFID
(C) BRIREIAIZE (B047 - BE B BF
) )
(D) OCR
(E) M =2
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(A) INF (VERIR » A SHEE
(B) 2NF HVERIFT S ZEEMBAEREE
(C) INF jUE Rz » SAAEWFA SQL £
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(A) BIEERMRER - SEBHIER
(B) BEMRAEREETLRTRE
(C) ETERAERAVHE
D) EFEE
(E) AEERARFEIIMES
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(A) FefEZ= R aRy R
(B) BRFEIF A G BUR A RIRIH
(C) HEBSERR AR
(D) TEIERE R ERIRE S
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(E) L/LJ: l=t‘- =

24, DITH—BA BENRENEEEE
(A) #EEHE
(B) FEFLHE
(C) HuftE
(D) EFRIEWEME
(E) FrEtE / MERE
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(A) &GEraofhizse
(B) RRZIERR
(C) OLTP %4&n
D) HRFBLRLR
(E) XHFimRZ4R

26. Architecturally, the base layer of the blockchain
isa/an __ network.
(A) B2B
(B) C2C
(C) M2M
(D) 020
(E) P2P

27. All of the following are considered disruptive
technologies except
(A) instant messaging.
(B) PageRank algorithm,
(C) WWW.
(D) PCs.
(E) smartphones.

28. Examples of the potential of 3D printing
include all of the following except that

(A) printing replacement parts on-demand at
hardware stores.

(B) printing parts for maintenance and repair
as needed at defense supply posts or in
combat areas.

(C) printing low-cost replacement parts in
mass quantities for backup inventory at car




B3 P S K $ 106 2 F B8 LA AN AR

Bl BMEEEA ALE ia(—Ek)
LAHAAESLZ ELE Au(—K4)
#B: BEEALL

AFERLERITES

29,

30

31

32.

repair centers,

(D) 3D-printing expensive replacement parts
for MRI scanners onsite at healthcare
facilities.

(E) 3D printing is one of the technologies that
are going to creatively destroy, to some
extent, traditional manufacturing.

PATHR—IHE2 2016 S38{THYFHE Pokémon
GO #ERf -

(A) AR

(B) GPS

(C) Ingress

(D) Niantic

(E) VR
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(A) PEERMH

(B) BEAIR

(C) EHEIRER

(D) $EREE

(B) AEEZR

Using AJAX technologies and APls, websites
and applications can pull information from a
variety of sources in order to create

(A) blogs

(B) mashups

(©) 5G

(D) maps

(E) apps

Which of the following is not an example of the

IoT being used by businesses?

(A) A network of ground sensors that allow
agricultural operations to adjust the
amount of fertilizer and water applied to
specific field locations.

(B) Sensors in rental cars that allow companies
to base rates on the driving behavior of
their customers

33.

34,

35.
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(C) Sensors in shoppers’ club cards that make :
it possible for retailers to offer discounts or
promotions to consumers at the point of
sale. ‘

Sensors on packages of cereal, pasta, soup
or other food products made for children
that allow companies to determine young
consumer’s satisfaction with the nutritional
value of the product.

Using the smartphone's range of sensors
and connectivity options, users have a
well-equipped IoT device in their pocket
that can automatically monitor their
movements, location, and workouts
throughout the day.

(D)

Which of the following is not the cost

characteristics of information goods?

(A) Information is costly to produce but cheap
to reproduce.

(B) Compared to physical goods, information
goods incur higher marginal costs per unit.

(C) Once the first copy of an information good
has been produced, most costs are sunk
and cannot be recovered.

(D) Multiple copies can be produced at roughly
constant per-unit costs.

(E) There are no natural capacity limits for
additional copies.

All of the following are technologies used to
analyze and manage big data except

(A) cloud computing.

(B) NoSQL.

(C) In-memory computing.

(D) Analytic platforms.

(E) Hadoop.

Which of the foliowing plays a key role in
building hurman capital?
(A) Artificial Intelligence
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36.

37.

38.

39.

4Q.

(B) Machine Leamning
(C) e-Leamning

(D) Deep Leamning

(E) Business Intelligence

Which of the following determines who 1s
responsible for the actions taken?

(A) Privacy

(B) Responsibility

(C) TrAnswerferability

(D) Accountability

(E)} Liability

Which of the following processes involves the
warehouse, sales, and accounting functional
areas?

(A) Procurement

(B) Fulfillment

(C) Order entry

(D) Accounts Receivable

(E) Payroll

Using an information system to make
customers and/or suppliers reluctant to change
to another competitor is called:

(A) Growth strategy

(B) Building switching costs

(C) Creating alliances

(D) Raising barriers to entry

(E) Raising barriers to entry

Which of the following is not one of the current
software platform trends?

(A) Web services and service-oriented
architecture

open-source software

HTMLS

software outsourcing

(B)
©)
(D)
(E)

Which of the following is an open source
browser?

multicore processors

41.

42,

43,
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(A) Ubuntu
(B) Apache
(C) Opera
(D) Firefox
(E) Linux

Which of the following is a feature of public

key encryption?

(A) It uses a single point key to encrypt and
decrypt data.

(B) It uses a pair of keys, one to encrypt the
data and the other to decrypt data.

(C) Tt uses multiple numbers of keys accessible
to all members of an organization.

(D) It uses a duplication process to replicate
keys.

(E) The encryption formulas used for creating
the keys are simple in nature and identical
at both ends.

Which of the following is an example of

functional requirements for developing an

information system?

(A) The system should work with any web
browser.

(B) The system should load any web page
within 3 seconds.

(C) Customers should be abie to see their
orders after authentication.

(D) The system should comply with the

company’s policy of buying all PCs and

servers from ASUS.

The system should be able to search all

available inventory in order to determine

whether a product can be made by a given

date.

(E)

Which of the following is not a function of the

information systems department?

(A) developing, operating, and maintaining an
organization's computing infrastructure
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45.

46.

(B) conducting external audits

(C) managing outsourcing relationships
(D) developing applications

(E) protecting information assets

Which of the following is an example of a
consumer to business (C2B) e-marketplace?
(A) a virtual platform where individual sellers
can post their wares and shoppers use the
search tools to find what they want
(B) a website that allows businesses to buy and
sell products or services online to one
another -
a blog featuring a link to a product sold by
an e-commerce firm, added by the blogger,
who gets paid by the firm when a visitor to
the blog clicks on the link and buys the
product
an e-marketplace where many suppliers
post their wares and consumers can
compare them on pricing and features
before making the final purchase decision
based on the comparison
(E) none of the above

(©

D)

Systems thinking means that an individual sees:
(A) few relationships among systems and
processes

discrete snapshots of change, whenever it
occurs '

linear cause-and-effects when events occur
the forest and the trees in any situation
none of the above

(B)

©
D)
(E)

BGEA (infomediary) AEALIE BT
FIGETR % 7

(A) BPEHE

(B) EHEHE

© ZHhiMk

(Dy LMk

(E) &HefE
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Which of the following is the first step in the
procure-to-pay process?

(A) negotiate price and terms

(B) issue purchase order

(C) receive goods

(D) receive invoice

(E) settle payment

At the end of a semester, a student knows that
she must achieve a grade of 81 or higher on her
final exam to get an A in the course. She has
just performed what kind of analysis?

(A) What-if

(B) Qualitative

(C) Sensitivity

(D) Goal-seeking

(E) Simulation

A project plan is specified in a
(A) resource pool.

(B) Gantt chart.

(C) work breakdown structure.
(D) eritical path.

(E) triple constraints.

Global markets, production, and administration
create the conditions for:

(A) global systems

(B) global economies of scale

(C) atruly global labor force

(D) domestic exporter kinds of businesses

(E) localized software




